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# print_string "Hello OCamI<A";;

Hello OCaml<A- : unit = ()
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- % 74438
- Int=3

#0.1+.0.2:;
- : float = 0.30000000000000004
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#1+0.1;

Characters 4-7:
1+0.1:;
NN/

This expression has type float but is
here used with type Int
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#letx = 1;;

val x:int=1

# X+ 2;;
- Int=3
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# let x::

Characters 5-7:
let X;; \
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SR EFEIE- -
#leta=refl;
val a : intref = {contents = 1}
#a.=1+2;,
- unit = ()

# la;;
-.Int=3
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#letaaa=funx->x+1;; |#letaaax=x+1:;

val aaa : Int -> Int = <fun>

# aaa 3;; #aaa 0.1;;
-:int=4 Characters 4-7:
aaa 0.1;

NNN

This expression has type float
but is here used with type int
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# let aaa list =
match list with
]1->0
a]->1 E%uf;/ﬁa—yv\ﬁy/f
a;b] -> 2 INZI—UDiRN
_ >3} (/34 @*"%#ﬁﬁié)
val aaa : 'a list -> Int = <fun>
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# let aaa = function # aaa [[;;
1->0 -:int=0
al->1 .
a:b] -> 2 # éaa ["abc™];;

> 3+ -rint=1
# aaa [1; 2];;
-int =2

# aaa [0.1; 0.2; 0.3; 0.4];;
-:int=3
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# let sum = function # sum [2; 3];;
1->0 -int=5
a] -> a
a,b]->a+Db # sum [1; 0.2];;
_ ->100;; Characters 8-11:

sum [1; 0.2];;

NANN

val sum : int list -> int = <fun> _ |
This expression has

type float but is here
used with type int
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# let rec sum = function
[1->0
| hd::tl -> hd + sum tl;;

val sum : int list -> Int = <fun>

#sum [1; 2; 3; 4, 5];;
-.Int=15
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# let rec sum = function
[]->0
| hd::tl -> hd + sum tl;;

# sum [1; 2; 3];; -:Int=6
1+ sum [2; 3] 1+5
2 + sum [3] 2+ 3
3 +sum ] 3+0
0
"o g NASS bACERS £ EEMRE #5




WA CTHL—
LHE0EEYEZT

# let rec sum ans = function
[] -> ans
| hd::tl -> sum (ans + hd) tl;;

val sum : int list -> Iint = <fun>
#sum O [1; 2; 3; 4, 5];;
-:int=15
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# let rec sum ans = function
[] -> ans
| hd::tl -> sum (ans + hd) tl;;

#sum O [1; 2; 3];;

sum (0 + 1) [2; 3]

Sl (= 2|l REBRBEK

sum (3 + 3) [] Ay ERALENESIC
-:Int=6 estle
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# let rec sum ans = function
[] -> ans
| hd::tl -> sum (ans + hd) tl;;

# let rec sum = function
[]->0
| hd :: tl -> hd + sum tl;;
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# let sum list =

let rec loop ans = function

| hd::tl -> loop (hd + ans) tl

. bl A P
loop O list;;

val sum : int list -> int = <fun>

#sum [1; 2; 3; 4, 5];;

- int =15
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# let rec fold_left ff init = function
[] -> init
| hd::tl -> fold_left ff (ff init hd) tl;;

val fold left: ('fa->'b->"a) ->'a->"'blist -> 'a = <fun>
# fold_left (+) O [1; 2; 3; 4, 5];;
-.int =15

# fold_left (+.) 0.0 [0.1; 0.2; 0.3; 0.4, 0.5];;
- . float=1.5
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# let rec fold_left ff init = function
] -> init
| hd::tl -> fold_left ff (ff init hd) tl;;

# let sum list = fold_left (+) O list;;
val sum : int list -> int = <fun>

# sum [1; 2; 3; 4; 5];;

- Int=15
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# let sum list = List.fold_left (+) O list;;

val sum : int list -> Iint = <fun>
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http://caml.inria.fr/download.en.html

HYMNESTTWVELIZ m(C)m

HhAKERIE 2 EMIER #5

* LD [R28



http://caml.inria.fr/download.en.html

